July 8, 2024

ATTY . PETER SUCHIANGCO

119 Aquarius St, Cinco Hermanos, Marikina City

0966-624999/ 0922-814271

Email address

MODEL Qty
KLG-IF40-5G1M32 2
KSG-IWF-30WFY8K1M32 3
KSG-IWF-25WFY8K1M32 3
KSG-IWF-15WFY8K1M32 2
KAG-250WCINV 1

G	ROOM						Area	27	
1	3.0 HP Wall Mounted Inverter		KSG-IWF	- -30	WFY8K1M32				
	Estimated Pipe Length =	60 ft							
	Estimated Royal Cord Length =	65 ft							
	Initial Charge							₽	5,500.00
	Includes:								
	Labor								
	10ft Copper Tube								
	10ft Royal Cord								
	Outdoor Bracket (Wall)								
	Consumables								
	Installation Materials	Description	Qty F	Pric	e per qty	Su	btotal		
	Copper Tube	Ø 1/4" x Ø 5/8"	50 ft f	₱	400.00/ft	₽	20,000.00		
	Royal Cord (comm. wire)	2.mm2 x 4C	55 ft f	₱	100.00/ft	₽	5,500.00		
	Royal Cord (ACCU-Breaker)	3.5mm x 3c	5 ft 	₱	60.00/ft	₱	300.00		
	Circuit Breaker waterproof	30A / 1Ph	1 pc/s ₹	₱	1,000.00/pc	₽	1,000.00		
	Rubber Insulation	2 1/8" x 3/4" x 6'	5 pc/s ₱	₽	350.00/pc	₽	1,750.00		
	Outdoor bracket	Fab. wall w/ledge	1 pc/s ₹	₱	6,500.00/pc	₽	6,500.00		
	PVC blue	3/4" x 10'	1 pc/s ₱	₱	150.00/pc	₽	150.00	₱	35,200.0
			•		·				
	Estimated Charges		1		·			₽	40,700.
ΉE			'		· ·		Area		40,700.
<mark>НЕ.</mark> 2			·		WFY8K1M32		Area		
	N 2.5 HP Wall Mounted Inverter	40 ft	·		WFY8K1M32		Area		
	N 2.5 HP Wall Mounted Inverter		·		WFY8K1M32		Area		
	N 2.5 HP Wall Mounted Inverter Estimated Pipe Length =		·		WFY8K1M32		Area	20	sqm
	N 2.5 HP Wall Mounted Inverter Estimated Pipe Length = Estimated Royal Cord Length =		·		WFY8K1M32		Area	20	sqm
	N 2.5 HP Wall Mounted Inverter Estimated Pipe Length = Estimated Royal Cord Length = Initial Charge Includes: Labor		·		WFY8K1M32		Area	20	sqm
	2.5 HP Wall Mounted Inverter Estimated Pipe Length = Estimated Royal Cord Length = Initial Charge Includes:		·		WFY8K1M32		Area	20	sqm
	N 2.5 HP Wall Mounted Inverter Estimated Pipe Length = Estimated Royal Cord Length = Initial Charge Includes: Labor		·		WFY8K1M32		Area	20	sqm
	2.5 HP Wall Mounted Inverter Estimated Pipe Length = Estimated Royal Cord Length = Initial Charge Includes: Labor 10ft Copper Tube		·		WFY8K1M32		Area	20	sqm
	2.5 HP Wall Mounted Inverter Estimated Pipe Length = Estimated Royal Cord Length = Initial Charge Includes: Labor 10ft Copper Tube 10ft Royal Cord		KSG-IWF	F-25	WFY8K1M32	Su	Area	20	sqm
	2.5 HP Wall Mounted Inverter Estimated Pipe Length = Estimated Royal Cord Length = Initial Charge Includes: Labor 10ft Copper Tube 10ft Royal Cord Consumables Installation Materials Copper Tube	45 ft	KSG-IWF	Pric	e per qty 400.00/ft			20	sqm
	2.5 HP Wall Mounted Inverter Estimated Pipe Length = Estimated Royal Cord Length = Initial Charge Includes: Labor 10ft Copper Tube 10ft Royal Cord Consumables Installation Materials Copper Tube Royal Cord (comm. wire)	45 ft Description	KSG-IWF	Pric	e per qty	₽	ibtotal 12,000.00 3,500.00	20	sqm
	2.5 HP Wall Mounted Inverter Estimated Pipe Length = Estimated Royal Cord Length = Initial Charge Includes: Labor 10ft Copper Tube 10ft Royal Cord Consumables Installation Materials Copper Tube	Description Ø 1/4" x Ø 5/8"	KSG-IWF Qty F 30 ft F	Price	e per qty 400.00/ft 100.00/ft 60.00/ft	₽	i btotal 12,000.00	20	sqm
	2.5 HP Wall Mounted Inverter Estimated Pipe Length = Estimated Royal Cord Length = Initial Charge Includes: Labor 10ft Copper Tube 10ft Royal Cord Consumables Installation Materials Copper Tube Royal Cord (comm. wire)	Description Ø 1/4" x Ø 5/8" 2.mm2 x 4C	Qty F 30 ft F 35 ft F 1 pc/s F	Price	e per qty 400.00/ft 100.00/ft 60.00/ft 1,000.00/pc	P P P	1 btotal 12,000.00 3,500.00 300.00 1,000.00	20	sqm
	2.5 HP Wall Mounted Inverter Estimated Pipe Length = Estimated Royal Cord Length = Initial Charge Includes: Labor 10ft Copper Tube 10ft Royal Cord Consumables Installation Materials Copper Tube Royal Cord (comm. wire) Royal Cord (ACCU-Breaker)	Description Ø 1/4" x Ø 5/8" 2.mm2 x 4C 3.5mm x 3c	Qty F 30 ft F 35 ft F	Pric	te per qty 400.00/ft 100.00/ft 60.00/ft 1,000.00/pc 350.00/pc	P P P	a btotal 12,000.00 3,500.00 300.00	20	sqm
	2.5 HP Wall Mounted Inverter Estimated Pipe Length = Estimated Royal Cord Length = Initial Charge Includes: Labor 10ft Copper Tube 10ft Royal Cord Consumables Installation Materials Copper Tube Royal Cord (comm. wire) Royal Cord (ACCU-Breaker) Circuit Breaker waterproof Rubber Insulation Outdoor bracket	Description Ø 1/4" x Ø 5/8" 2.mm2 x 4C 3.5mm x 3c 30A / 1Ph 2 1/8" x 3/4" x 6' Fab. wall w/ledge	Qty F 30 ft F 35 ft F 1 pc/s F	Pric	e per qty 400.00/ft 100.00/ft 60.00/ft 1,000.00/pc 350.00/pc 6,500.00/pc	尹尹尹	12,000.00 3,500.00 300.00 1,000.00 1,400.00 6,500.00	20	sqm 5,500.00
	2.5 HP Wall Mounted Inverter Estimated Pipe Length = Estimated Royal Cord Length = Initial Charge Includes: Labor 10ft Copper Tube 10ft Royal Cord Consumables Installation Materials Copper Tube Royal Cord (comm. wire) Royal Cord (ACCU-Breaker) Circuit Breaker waterproof Rubber Insulation	Description Ø 1/4" x Ø 5/8" 2.mm2 x 4C 3.5mm x 3c 30A / 1Ph 2 1/8" x 3/4" x 6'	Qty F 30 ft F 35 ft F 1 pc/s F 4 pc/s F	Price	te per qty 400.00/ft 100.00/ft 60.00/ft 1,000.00/pc 350.00/pc	尹尹尹	1 btotal 12,000.00 3,500.00 300.00 1,000.00 1,400.00	20	

ACU 3 3.0 HP WAIR Mounted Inverter	HALLW	/AY			Area	29 sqm
Estimated Royal Card Length = 51 ft				KSG-IWF-30WFY8K1M32		
Initial Charge			46 ft			
Includes:		Estimated Royal Cord Length =	51 ft			
Labor 10ft Copper Tube 10ft Royal Cord Consumables Installation Materials Copper Tube 10ft Royal Cord Consumables Copper Tube Copper Tub		Initial Charge				₱ 5,500.00
10ft Copper Tube		Includes:				
Total Royal Cord Consumables Installation Materials Description Otly Price per qty Subtotal P 12,600.00 P		Labor				
Consumables Description City Price per qty Subtotal Copper Tube Of 14" x Q 5/8" 36 ft P 350,00/ft P 12,600.00		10ft Copper Tube				
Installation Materials						
Copper Tube O 144" x 0 5/80" 36 ft P 350,00/nt P 12,200.00		Consumables				
Royal Cord (comm. wire) 2 mm 2 x 4C		Installation Materials	•		Subtotal	
Royal Cord (ACCU-Breaker) 3.5mm x 3c 5 ft P 80.00/ft P 300.00					₱ 12,600.00	
Circuit Breaker waterproof 30A / IPh 1 pols P 1,000,00 P 1,000,00			2.mm2 x 4C		₱ 4,100.00	
Rubber Insulation						
Outdoor bracket Fab. wall wiledge 2.5HP Wall Mounted 1 pc/s P 6.500.00 c P 2.500.00		•			•	
Dismantle					•	
Estimated Charges			•			
Estimated Charges						
MASTER BEDROOM		PVC blue	3/4" x 10'	1 pc/s ₱ 150.00/pc	₱ 150.00	<u>₱ 29,250.00</u>
MASTER BEDROOM Area 24 sqm ACU 4 2.5 HP Wall Mounted Invertor Estimated Pipe Length = 40 ft Estimated Pipe Length = 40 ft Estimated Pipe Length = 40 ft Estimated Pipe Length = 45 ft Initial Charge P 5,500.00 P 5,500.00 P 5,500.00 P 5,500.00 P 5,500.00 P 5,500.00 P 10,500.00 P 1,500.00 P 1,000.00 P 16,850.00 P 1,000.00 P 1,000.00		Estimated Charges				₱ 34 750 00
ACU 4 2.5 HP Wall Mounted Inverter Estimated Pipe Length = 40 ft		Estimated Onlarges				1 04,700.00
Estimated Pipe Length = 40 ft Estimated Royal Cord Length = 45 ft Initial Charge Includes: Labor 10ft Copper Tube 10ft Royal Cord Consumables Installation Materials Copper Tube 2 mm2 x 4C 35 ft P 350.00/ft P 15.00.00 Royal Cord (Comm. wire) Royal Cord (ACCU-Breaker) Circuit Breaker waterproof Rubber Insulation 2 1/8" x 3/4" x 10" Estimated Charge F 23,550.00 FAMILY ROOM ACU 5 3.0 HP Wall Mounted Inverter Estimated Pipe Length = 23 ft Estimated Pipe Length = 23 ft Initial Charge Includes: Labor 10ft Royal Cord Outdoor Bracket (Wall) Consumables Installation Materials Description Qty Price per qty Subtotal P 35,00.00 P 1,000.00				VOC IME DEMENOVATAGE	Area	24 sqm
Estimated Royal Cord Length = 45 ft Initial Charge	ACU 4		40 ft	KSG-IWF-25WFY8K1M32		
Initial Charge Includes: Labor 10ft Copper Tube 10ft Royal Cord Consumables Installation Materials Description Qty Price per qty Subtotal Copper Tube 7 10 10 10 10 10 10 10						
Includes:			45 II			₽ 5 500 00
Labor 10ft Copper Tube 10ft Royal Cord Consumables Installation Materials Description Royal Cord (comm. wire) Royal Cord (comm. wire) Royal Cord (ACCU-Breaker) Royal Cord (Royal Cord		•				1 3,300.00
10ft Copper Tube						
10ft Royal Cord Consumables Installation Materials Description Qty Price per qty Subtotal						
Installation Materials Description Qty Price per qty Subtotal						
Copper Tube						
Copper Tube		Installation Materials	Description	Qty Price per qty	Subtotal	
Royal Cord (ACCU-Breaker) 3.5mm x 3c 5 ft P 60.00/ft P 300.00		Copper Tube	Ø 1/4" x Ø 5/8"		₱ 10,500.00	
Circuit Breaker waterproof Rubber Insulation 2 1/8" x 3/4" x 6' 4 pc/s P 350.00/pc P 1,000.00 Outdoor bracket Fabricated floor PVC blue 3/4" x 10' 1 pc/s P 150.00/pc P 150.00 P 150.00 P 150.00 P 150.00 P 150.00 P 16,850.00 FAMILY ROOM ACU 5 3.0 HP Wall Mounted Inverter Estimated Pipe Length = 23 ft Estimated Royal Cord Length = 28 ft Initial Charge Includes: Labor 10ft Copper Tube 10ft Royal Cord Outdoor Bracket (Wall) Consumables Installation Materials Copper Tube 0 1/4" x Ø 5/8" Royal Cord (comm. wire) Royal Cord (ACCU-Breaker) Royal Cord (ACCU-Breaker) Circuit Breaker waterproof P 1,000.00/pc P 1,000.00 P 1,000.00/pc P 1,000.00 P 1,000.00 P 1,000.00 P 1,000.00 P 7,950.00 P 1,000.00 P 7,950.00 P 1,000.00 P 7,950.00 P 1,000.00 P 7,950.00		Royal Cord (comm. wire)	2.mm2 x 4C	35 ft ₱ 100.00/ft	₱ 3,500.00	
Rubber Insulation Outdoor bracket Fabricated floor PVC blue 3/4" x 10' 1 pc/s P 2,500.00/pc P 1,400.00 PVC blue 3/4" x 10' 1 pc/s P 150.00/pc P 150.00 P 150.00 P 150.00 P 16,850.00 Family ROOM Area 25 sqm Area 25 sqm KSG-IWF-30WFY8K1M32 Estimated Pipe Length = 23 ft Estimated Royal Cord Length = 28 ft Initial Charge Includes: Labor 10ft Copper Tube 10ft Royal Cord Outdoor Bracket (Wall) Consumables Installation Materials Copper Tube Royal Cord (comm. wire) Royal Cord (ACCU-Breaker) Royal Cord (ACCU-Breaker) Circuit Breaker waterproof 30A / 1Ph 1 pc/s P 150.00/pc P 150.00 P 16,850.00 P 16,850.00 P 16,850.00 P 150.00/pc P 150.00/pc P 1,400.00 P 16,850.00 P 5,500.00 P 1,400.00 P 1,400.00 P 1,800.00 P 1,800.00 P 7,950.00 P 7,950.00		Royal Cord (ACCU-Breaker)	3.5mm x 3c	5 ft ₱ 60.00/ft	₱ 300.00	
Outdoor bracket Pabricated floor PVC blue 3/4" x 10' 1 pc/s P 150.00/pc P 150.00 P 16,850.00 Estimated Charges P 150.00/pc P 150.00 P 16,850.00 Estimated Charges P 150.00/pc P 150.00 P 16,850.00 FAMILY ROOM Area 25 sqm ACU 5 3.0 HP Wall Mounted Inverter Estimated Pipe Length = 23 ft Estimated Royal Cord Length = 28 ft Initial Charge Includes: Labor 10ft Copper Tube 10ft Royal Cord Outdoor Bracket (Wall) Consumables Installation Materials Copper Tube Ø 1/4" x Ø 5/8" 13 ft P 350.00/ft P 4,550.00 Royal Cord (comm. wire) 2.mm2 x 4C 18 ft P 100.00/ft P 1,800.00 Royal Cord (ACCU-Breaker) 3.5mm x 3c 5 ft P 60.00/ft P 300.00 P 7,950.00 P 1,000.00 P 7,950.00 P 1,000.00 P 7,950.00		Circuit Breaker waterproof			₱ 1,000.00	
Estimated Charges		Rubber Insulation	2 1/8" x 3/4" x 6'	4 pc/s ₱ 350.00/pc	₱ 1,400.00	
Estimated Charges		Outdoor bracket	Fabricated floor	pc/s ₱ 2,500.00/pc	₱ 0.00	
FAMILY ROOM		PVC blue	3/4" x 10'	1 pc/s ₱ 150.00/pc	₱ 150.00	₱ 16,850.00
FAMILY ROOM		Estimated Charges				₱ 22,350.00
ACU 5 3.0 HP Wall Mounted Inverter Estimated Pipe Length = 23 ft Estimated Royal Cord Length = 28 ft Initial Charge Includes: Labor 10ft Copper Tube 10ft Royal Cord Outdoor Bracket (Wall) Consumables Installation Materials Copper Tube Royal Cord (comm. wire) Royal Cord (ACCU-Breaker) Circuit Breaker waterproof PVC blue 3/4" x 10' XSG-IWF-30WFY8K1M32 KSG-IWF-30WFY8K1M32 KSG-IWF-30WFY8K1M32 KSG-IWF-30WFY8K1M32 KSG-IWF-30WFY8K1M32						
Estimated Pipe Length = 23 ft Estimated Royal Cord Length = 28 ft Initial Charge Includes: Labor 10ft Copper Tube 10ft Royal Cord Outdoor Bracket (Wall) Consumables Installation Materials Copper Tube Ø 1/4" x Ø 5/8" 13 ft ₱ 350.00/ft ₱ 4,550.00 Royal Cord (comm. wire) 2.mm2 x 4C 18 ft ₱ 100.00/ft ₱ 1,800.00 Royal Cord (ACCU-Breaker) Circuit Breaker waterproof 30A / 1Ph 1 pc/s ₱ 1,000.00/pc ₱ 300.00 ₱ 7,950.00				KSG-IWF-30WFY8K1M32	Area	25 sqm
Estimated Royal Cord Length = 28 ft Initial Charge Includes: Labor 10ft Copper Tube 10ft Royal Cord Outdoor Bracket (Wall) Consumables Installation Materials Copper Tube Ø 1/4" x Ø 5/8" Royal Cord (comm. wire) Royal Cord (ACCU-Breaker) Circuit Breaker waterproof Ø 1/4" x 10' Description Qty Price per qty Subtotal Subtotal P 4,550.00 P 1,800.00 P 1,800.00 P 1,800.00 P 1,000.00/pc P 300.00 P 7,950.00	A00 0		23 ft	NGC IIII COIII TON IIIIOZ		
Includes: Labor						
Includes: Labor						₱ 5.500.00
10ft Copper Tube 10ft Royal Cord Outdoor Bracket (Wall) Consumables Installation Materials Copper Tube Ø 1/4" x Ø 5/8" Royal Cord (comm. wire) Royal Cord (ACCU-Breaker) Circuit Breaker waterproof 30A / 1Ph 100.00/pc PVC blue Description Qty Price per qty Subtotal P 4,550.00 P 1,800.00 P 1,800.00 P 1,800.00 P 1,000.00/pc P 1,000.00 P 7,950.00		_				,
10ft Royal Cord Outdoor Bracket (Wall) Consumables Installation Materials Copper Tube Royal Cord (comm. wire) Royal Cord (ACCU-Breaker) Circuit Breaker waterproof 30A / 1Ph 100		Labor				
Outdoor Bracket (Wall) Consumables Installation Materials Description Qty Price per qty Subtotal Copper Tube Ø 1/4" x Ø 5/8" 13 ft ₱ 350.00/ft ₱ 4,550.00 Royal Cord (comm. wire) 2.mm2 x 4C 18 ft ₱ 100.00/ft ₱ 1,800.00 Royal Cord (ACCU-Breaker) 3.5mm x 3c 5 ft ₱ 60.00/ft ₱ 300.00 Circuit Breaker waterproof 30A / 1Ph 1 pc/s ₱ 1,000.00/pc ₱ 1,000.00 PVC blue 3/4" x 10' 2 pc/s ₱ 150.00/pc ₱ 300.00 ₱ 7,950.00		10ft Copper Tube				
Consumables Installation Materials Description Qty Price per qty Subtotal Copper Tube Ø 1/4" x Ø 5/8" 13 ft ₱ 350.00/ft ₱ 4,550.00 Royal Cord (comm. wire) 2.mm2 x 4C 18 ft ₱ 100.00/ft ₱ 1,800.00 Royal Cord (ACCU-Breaker) 3.5mm x 3c 5 ft ₱ 60.00/ft ₱ 300.00 Circuit Breaker waterproof 30A / 1Ph 1 pc/s ₱ 1,000.00/pc ₱ 1,000.00 PVC blue 3/4" x 10' 2 pc/s ₱ 150.00/pc ₱ 300.00						
Consumables Installation Materials Description Qty Price per qty Subtotal Copper Tube Ø 1/4" x Ø 5/8" 13 ft ₱ 350.00/ft ₱ 4,550.00 Royal Cord (comm. wire) 2.mm2 x 4C 18 ft ₱ 100.00/ft ₱ 1,800.00 Royal Cord (ACCU-Breaker) 3.5mm x 3c 5 ft ₱ 60.00/ft ₱ 300.00 Circuit Breaker waterproof 30A / 1Ph 1 pc/s ₱ 1,000.00/pc ₱ 1,000.00 PVC blue 3/4" x 10' 2 pc/s ₱ 150.00/pc ₱ 300.00		•				
Copper Tube Ø 1/4" x Ø 5/8" 13 ft ₱ 350.00/ft ₱ 4,550.00 Royal Cord (comm. wire) 2.mm2 x 4C 18 ft ₱ 100.00/ft ₱ 1,800.00 Royal Cord (ACCU-Breaker) 3.5mm x 3c 5 ft ₱ 60.00/ft ₱ 300.00 Circuit Breaker waterproof 30A / 1Ph 1 pc/s ₱ 1,000.00/pc ₱ 1,000.00 PVC blue 3/4" x 10' 2 pc/s ₱ 150.00/pc ₱ 300.00 ₱ 7,950.00						
Royal Cord (comm. wire) 2.mm2 x 4C 18 ft ₱ 100.00/ft ₱ 1,800.00 Royal Cord (ACCU-Breaker) 3.5mm x 3c 5 ft ₱ 60.00/ft ₱ 300.00 Circuit Breaker waterproof 30A / 1Ph 1 pc/s ₱ 1,000.00/pc ₱ 1,000.00 PVC blue 3/4" x 10' 2 pc/s ₱ 150.00/pc ₱ 300.00 ₱ 7,950.00		Installation Materials	Description	Qty Price per qty	Subtotal	
Royal Cord (ACCU-Breaker) 3.5mm x 3c 5 ft ₱ 60.00/ft ₱ 300.00 Circuit Breaker waterproof 30A / 1Ph 1 pc/s ₱ 1,000.00/pc ₱ 1,000.00 PVC blue 3/4" x 10' 2 pc/s ₱ 150.00/pc ₱ 300.00 ₱ 7,950.00		• •	Ø 1/4" x Ø 5/8"	13 ft ₱ 350.00/ft	₱ 4,550.00	
Circuit Breaker waterproof 30A / 1Ph 1 pc/s ₱ 1,000.00/pc ₱ 1,000.00 PVC blue 3/4" x 10' 2 pc/s ₱ 150.00/pc ₱ 300.00 ₱ 7,950.00			2.mm2 x 4C	18 ft ₱ 100.00/ft	₱ 1,800.00	
PVC blue 3/4" x 10' 2 pc/s ₱ 150.00/pc ₱ 300.00 ₱ 7,950.00						
		•			· ·	
Estimated Charges ₱ 13,450.00		PVC blue	3/4" x 10'	2 pc/s ₱ 150.00/pc	₱ 300.00	₱ 7,950.00
		Estimated Charges				₱ 13,450.00

	IN CLOSET			Area	10 sqm
CU 6	1.5 HP Wall Mounted Inverter		KSG-IWF-15WFY8K1M32		
	, 3	33 ft			
	Estimated Royal Cord Length =	38 ft			
	Initial Charge				₱ 4,500.00
	Includes:				
	Labor				
	10ft Copper Tube				
	10ft Royal Cord				
	Outdoor Bracket (Wall)				
	Consumables				
	Installation Materials	Description	Qty Price per qty	Subtotal	
	Copper Tube	Ø 1/4" x Ø 3/8"	23 ft ₱ 350.00/ft	₱ 8,050.00	
	Royal Cord (comm. wire)	2.mm2 x 4C	28 ft ₱ 100.00/ft	₱ 2,800.00	
	Royal Cord (ACCU-Breaker)	3.5mm x 3c	5 ft ₱ 60.00/ft	₱ 300.00	
	Circuit Breaker waterproof	30A / 1Ph	1 pc/s ₱ 1,000.00/pc	₱ 1,000.00	
	Rubber Insulation	2 1/8" x 3/4" x 6'	4 pc/s ₱ 350.00/pc	₱ 1,400.00	
	PVC blue	3/4" x 10'	2 pc/s ₱ 150.00/pc	₱ 300.00	₱ 13,850.00
	r v C blue	3/4 X 10	2 pc/s F 130.00/pc	F 300.00	F 13,630.00
	Estimated Charges				₱ 18,350.0
* B				Area	10 sqm
CU 7	1.5 HP Wall Mounted Inverter		KSG-IWF-15WFY8K1M32		
	Estimated Pipe Length =	15 ft			
	Estimated Royal Cord Length =	20 ft			
	Initial Charge				₱ 4,500.00
	Includes:				
	Labor				
	10ft Copper Tube				
	10ft Royal Cord				
	Outdoor Bracket (Wall)				
	Consumables				
	Installation Materials	Description	Qty Price per qty	Subtotal	
	Copper Tube	Ø 1/4" x Ø 3/8"	5 ft ₱ 350.00/ft	₱ 1,750.00	
	Royal Cord (comm. wire)	2.mm2 x 4C	10 ft ₱ 100.00/ft	₱ 1,000.00	
	Royal Cord (ACCU-Breaker)	3.5mm x 3c	5 ft ₱ 60.00/ft	₱ 300.00	
	Circuit Breaker waterproof	30A / 1Ph	1 pc/s ₱ 1,000.00/pc	₱ 1,000.00	
	Rubber Insulation	2 1/8" x 3/4" x 6'	6 pc/s ₱ 350.00/pc	₱ 2,100.00	
	PVC blue	3/4" x 10'	2 pc/s ₱ 150.00/pc	₱ 300.00	₱ 6,450.00
	Fatimated Charges				₱ 10.950.00
	Estimated Charges				₱ 10,950.0
BEDRO				Area	23 sqm
CU 8	2.5 HP Wall Mounted Inverter		KSG-IWF-25WFY8K1M32		
	1 3	33 ft			
	Estimated Royal Cord Length =	38 ft			_
	Initial Charge				₱ 5,500.00
	Includes:				
	Labor				
	10ft Copper Tube				
	10ft Royal Cord				
	Outdoor Bracket (Wall)				
	Consumables				
	Installation Materials	Description	Qty Price per qty	Subtotal	
	Copper Tube	Ø 1/4" x Ø 5/8"	23 ft ₱ 350.00/ft	₱ 8,050.00	
	Royal Cord (comm. wire)	2.mm2 x 4C	28 ft ₱ 100.00/ft	₱ 2,800.00	
	Royal Cord (ACCU-Breaker)	3.5mm x 3c	7 ft ₱ 60.00/ft	₱ 420.00	
	Circuit Breaker waterproof	30A / 1Ph	1 pc/s ₱ 1,000.00/pc	₱ 1,000.00	
	Shoult preaker waterbroom		·	₱ 150.00	D 40 400 00
	PVC blue	3/4" x 10'	T DC/S P Thu DU/DC	F 1300 CO	P 1/4/000
	PVC blue	3/4" x 10'	1 pc/s ₱ 150.00/pc	F 150.00	₱ 12,420.00

AII A	STUDIO				Area	25 sqm
CU 9	2.5 HP Window type Inverter		KAG-25	OWCINV		
	Initial Charge					₱ 1,200.00
	Includes:					
	Labor					
	Consumables					
	Installation Materials	Description	Otv	Price per qty	Subtotal	
	Window type bracket	Description	1 pc/s		₱ 600.00	
		\\/\bita \\/\!	•	•		B 775.00
	Drain Hose	White -1/2"	7 ft	₱ 25.00/ft	₱ 175.00	<u>₱ 775.00</u>
	Estimated Charges					₱ 1,975.0
ITER	TAINMENT ROOM				Area	63 sqm
	4.0 HP Floor Standing Inverter		KLG-IF4	0-5G1M32	71100	oo oqiii
	_	40 ft				
	Estimated Royal Cord Length =					
	Initial Charge	77 10				₱ 11,000.00
	<u> </u>					F 11,000.00
	Includes:					
	Labor					
	10ft Copper Tube					
	10ft Royal Cord					
	Indoor Bracket (Floor)					
	Consumables					
	Installation Materials	Description	Qty	Price per qty	Subtotal	
	Copper Tube	Ø 3/8" x Ø 5/8"	30 ft	₱ 400.00/ft	₱ 12,000.00	
	Royal Cord (comm. wire)	2.mm2 x 4C	37 ft		₱ 3,700.00	
	Royal Cord (ACCU-Breaker)	5.5mm x 3c	7 ft		₱ 490.00	
	Circuit Breaker waterproof	30A / 1Ph	1 pc/s		₱ 1,000.00	
	Rubber Insulation	2 1/8" x 3/4" x 6'	•	·		
			6 pc/s	•	₱ 2,100.00 ₱ 6,500.00	
	Outdoor bracket	Fab. wall w/ledge	1 pc/s		₱ 6,500.00	D 000400
	PVC blue	3/4" x 10'	3 pc/s	₱ 150.00/pc	₱ 450.00	<u>₱ 26,240.00</u>
	Estimated Charges					₱ 37,240.
NI 44	4.0 LID Floor Ctonding Inventor		KI O IE	0.5041422		
CU 11	4.0 HP Floor Standing Inverter		KLG-IF4	0-5G1M32		
CU 11	Estimated Pipe Length =	46 ft	KLG-IF4	0-5G1M32		
CU 11	Estimated Pipe Length = Estimated Royal Cord Length =	46 ft	KLG-IF4	0-5G1M32		
CU 11	Estimated Pipe Length = Estimated Royal Cord Length = Initial Charge	46 ft	KLG-IF4	10-5G1M32		₱ 11,000.00
CU 11	Estimated Pipe Length = Estimated Royal Cord Length =	46 ft	KLG-IF4	0-5G1M32		₱ 11,000.00
CU 11	Estimated Pipe Length = Estimated Royal Cord Length = Initial Charge	46 ft	KLG-IF4	0-5G1M32		₱ 11,000.00
CU 11	Estimated Pipe Length = Estimated Royal Cord Length = Initial Charge Includes: Labor	46 ft	KLG-IF4	0-5G1M32		₱ 11,000.00
CU 11	Estimated Pipe Length = Estimated Royal Cord Length = Initial Charge Includes: Labor 10ft Copper Tube	46 ft	KLG-IF4	0-5G1M32		₱ 11,000.00
CU 11	Estimated Pipe Length = Estimated Royal Cord Length = Initial Charge Includes: Labor 10ft Copper Tube 10ft Royal Cord	46 ft	KLG-IF4	10-5G1M32		₱ 11,000.00
CU 11	Estimated Pipe Length = Estimated Royal Cord Length = Initial Charge Includes: Labor 10ft Copper Tube 10ft Royal Cord Indoor Bracket (Floor)	46 ft	KLG-IF4	10-5G1M32		₱ 11,000.00
CU 11	Estimated Pipe Length = Estimated Royal Cord Length = Initial Charge Includes: Labor 10ft Copper Tube 10ft Royal Cord Indoor Bracket (Floor) Consumables	46 ft 53 ft			Subtotal	₱ 11,000.00
CU 11	Estimated Pipe Length = Estimated Royal Cord Length = Initial Charge Includes: Labor 10ft Copper Tube 10ft Royal Cord Indoor Bracket (Floor) Consumables Installation Materials	46 ft 53 ft Description	Qty	Price per qty	Subtotal	₱ 11,000.00
CU 11	Estimated Pipe Length = Estimated Royal Cord Length = Initial Charge Includes: Labor 10ft Copper Tube 10ft Royal Cord Indoor Bracket (Floor) Consumables Installation Materials Copper Tube	46 ft 53 ft Description Ø 3/8" x Ø 5/8"	Qty 36 ft	Price per qty ₱ 350.00/ft	₱ 12,600.00	₱ 11,000.00
CU 11	Estimated Pipe Length = Estimated Royal Cord Length = Initial Charge Includes: Labor 10ft Copper Tube 10ft Royal Cord Indoor Bracket (Floor) Consumables Installation Materials Copper Tube Royal Cord (comm. wire)	46 ft 53 ft Description Ø 3/8" x Ø 5/8" 2.mm2 x 4C	Qty 36 ft 43 ft	Price per qty ₱ 350.00/ft ₱ 100.00/ft	₱ 12,600.00 ₱ 4,300.00	₱ 11,000.00
CU 11	Estimated Pipe Length = Estimated Royal Cord Length = Initial Charge Includes: Labor 10ft Copper Tube 10ft Royal Cord Indoor Bracket (Floor) Consumables Installation Materials Copper Tube Royal Cord (comm. wire) Royal Cord (ACCU-Breaker)	46 ft 53 ft Description Ø 3/8" x Ø 5/8" 2.mm2 x 4C 5.5mm x 3c	Qty 36 ft	Price per qty ₱ 350.00/ft ₱ 100.00/ft ₱ 70.00/ft	₱ 12,600.00 ₱ 4,300.00 ₱ 490.00	₱ 11,000.00
CU 11	Estimated Pipe Length = Estimated Royal Cord Length = Initial Charge Includes: Labor 10ft Copper Tube 10ft Royal Cord Indoor Bracket (Floor) Consumables Installation Materials Copper Tube Royal Cord (comm. wire)	46 ft 53 ft Description Ø 3/8" x Ø 5/8" 2.mm2 x 4C	Qty 36 ft 43 ft	Price per qty ₱ 350.00/ft ₱ 100.00/ft ₱ 70.00/ft	₱ 12,600.00 ₱ 4,300.00	₱ 11,000.00
CU 11	Estimated Pipe Length = Estimated Royal Cord Length = Initial Charge Includes: Labor 10ft Copper Tube 10ft Royal Cord Indoor Bracket (Floor) Consumables Installation Materials Copper Tube Royal Cord (comm. wire) Royal Cord (ACCU-Breaker)	46 ft 53 ft Description Ø 3/8" x Ø 5/8" 2.mm2 x 4C 5.5mm x 3c	Qty 36 ft 43 ft 7 ft	Price per qty ₱ 350.00/ft ₱ 100.00/ft ₱ 70.00/ft ₱ 1,000.00/pc	₱ 12,600.00 ₱ 4,300.00 ₱ 490.00	₱ 11,000.00
CU 11	Estimated Pipe Length = Estimated Royal Cord Length = Initial Charge Includes: Labor 10ft Copper Tube 10ft Royal Cord Indoor Bracket (Floor) Consumables Installation Materials Copper Tube Royal Cord (comm. wire) Royal Cord (ACCU-Breaker) Circuit Breaker waterproof	46 ft 53 ft Description Ø 3/8" x Ø 5/8" 2.mm2 x 4C 5.5mm x 3c 30A / 1Ph 2 1/8" x 3/4" x 6'	Qty 36 ft 43 ft 7 ft 1 pc/s	Price per qty ₱ 350.00/ft ₱ 100.00/ft ₱ 70.00/ft ₱ 1,000.00/pc ₱ 350.00/pc	₱ 12,600.00 ₱ 4,300.00 ₱ 490.00 ₱ 1,000.00	₱ 11,000.0
CU 11	Estimated Pipe Length = Estimated Royal Cord Length = Initial Charge Includes: Labor 10ft Copper Tube 10ft Royal Cord Indoor Bracket (Floor) Consumables Installation Materials Copper Tube Royal Cord (comm. wire) Royal Cord (ACCU-Breaker) Circuit Breaker waterproof Rubber Insulation Outdoor bracket	46 ft 53 ft Description Ø 3/8" x Ø 5/8" 2.mm2 x 4C 5.5mm x 3c 30A / 1Ph	Qty 36 ft 43 ft 7 ft 1 pc/s 6 pc/s	Price per qty ₱ 350.00/ft ₱ 100.00/ft ₱ 70.00/ft ₱ 1,000.00/pc ₱ 350.00/pc ₱ 6,500.00/pc	₱ 12,600.00 ₱ 4,300.00 ₱ 490.00 ₱ 1,000.00 ₱ 2,100.00 ₱ 6,500.00	₱ 11,000.0
OU 11	Estimated Pipe Length = Estimated Royal Cord Length = Initial Charge Includes: Labor 10ft Copper Tube 10ft Royal Cord Indoor Bracket (Floor) Consumables Installation Materials Copper Tube Royal Cord (comm. wire) Royal Cord (ACCU-Breaker) Circuit Breaker waterproof Rubber Insulation	Description Ø 3/8" x Ø 5/8" 2.mm2 x 4C 5.5mm x 3c 30A / 1Ph 2 1/8" x 3/4" x 6' Fab. wall w/ledge 4sets	Qty 36 ft 43 ft 7 ft 1 pc/s 6 pc/s 1 pc/s 1 mtr	Price per qty P 350.00/ft P 100.00/ft P 70.00/ft P 1,000.00/pc P 350.00/pc P 6,500.00/pc P 1,500.00/mtr	₱ 12,600.00 ₱ 4,300.00 ₱ 490.00 ₱ 1,000.00 ₱ 2,100.00 ₱ 6,500.00 ₱ 1,500.00	
CU 11	Estimated Pipe Length = Estimated Royal Cord Length = Initial Charge Includes: Labor 10ft Copper Tube 10ft Royal Cord Indoor Bracket (Floor) Consumables Installation Materials Copper Tube Royal Cord (comm. wire) Royal Cord (ACCU-Breaker) Circuit Breaker waterproof Rubber Insulation Outdoor bracket scaffoldings	Description Ø 3/8" x Ø 5/8" 2.mm2 x 4C 5.5mm x 3c 30A / 1Ph 2 1/8" x 3/4" x 6' Fab. wall w/ledge	Qty 36 ft 43 ft 7 ft 1 pc/s 6 pc/s 1 pc/s	Price per qty P 350.00/ft P 100.00/ft P 70.00/ft P 1,000.00/pc P 350.00/pc P 6,500.00/pc P 1,500.00/mtr	₱ 12,600.00 ₱ 4,300.00 ₱ 490.00 ₱ 1,000.00 ₱ 2,100.00 ₱ 6,500.00	₱ 11,000.0 ₱ 28,940.0

Validity: This quotation is valid for a period of fifteen (15) days from the date thereof, subject to our confirmation thereafter.

Installation notes:

- 1 Location based in floor plan only.Not yet final. For confirmation of location.indoor and outdoor.
- 2 AC drain line will be tapped to the nearest drain provision provided by the customer's contractor.
- 3 Need for marking and site visit before installation.
- 4 Coppertube expose in the area.

5 BEDROOM1 and ATTIC Outdoor location not yet final,need for confimation.

- 6 Working days: Monday to Saturday, 8am- 5pm with parking. Need working permit.
- 7 Mechanical Plans, Permits, Electrical permits not included.
- 8 Deflectors, masonry, carpentry, chipping & plastering (finishing & restoration) are not included in the installation.
- 9 Air conditioning drain line and Electrical power supply (feeder line) 220v/60hz/1ph, should be provided by customer's contractor.
- 10 Final charges will be based on actual installation.

Prepared by:	Customer Conformee:		
Jeoffrey Dadios			
Field Surveyor	Signature Over Printed Name		

Service/Supervisor Shop and Field Operation